Hn
g

HH

© HEINRICH KIPP WERK GmbH & Co. KG

J
L

A

ks

THEL:
AEL

AHQIYA AE!1.4305.

EM OpR2]:
AEAX A

MESLICH AFZE HE EF0|L
D7l IO BrAFT MO 2 AL 7
SO= Qlsl & 7158t LIAF E 20| ¥ x|ELICH

-40 °C ~+175°C

AL

CHE Rl

www.kipp.com - info@kipp.com 1/2



°
el
AM 7{E2 ->EHE
EZS 29
HOHE 2N 75, 2
FEHS RPN ES] C A3F D1 D4 L R TH ZHE
(DIN 912-12.9) = Nm
E3d Nm
K2064.1080 AE] M3x8 2,1 8 24 35 26,8 50
K2064.1100 AE! M4x12 46 10 29 45 32,7 70
K2064.1120 AE M4x12 46 12 29 45 32,7 70
K2064.1140 AE M5x16 9,5 14 34 50 39,4 190
K2064.1150 AE M5x16 9,5 15 34 50 39,4 190
K2064.1160 AEl M5x16 9,5 16 34 50 39,4 190
K2064.1190 AE] M6x18 16 19 42 65 48,2 300
K2064.1200 AE M6x18 16 20 42 65 48,2 350
K2064.1350 AE M8x25 39 35 67 95 74,1 1100
K2064.1250 AR M6x18 16 25 45 75 50,8 390
K2064.1300 AE M6x18 16 30 54 83 58,6 475
K2064.1400 AE M8x25 39 40 77 108 834 1325
K2064.1500 AR M10x25 77 50 85 124 932 2250
HokEl 2 71858, 2H|2lE A A8
FE s EA A € A7 D1 D4 L R TE ZHE
(DIN 912 A2-70) = Nm
E3d Nm
K2064.2080 AEQIFA AE] M3x8 1,1 8 24 35 268 16
K2064.2100 AHQIYA AR M4x12 2,5 10 29 45 327 70
K2064.2120 AEQIPA AL M4x12 2,5 12 29 45 327 70
K2064.2140 AEQIBA AE] M5x16 54 14 34 50 394 160
K2064.2150 AHQIPA AR M5x16 54 15 34 50 394 160
K2064.2160 AEQIPA AL M5x16 54 16 34 50 394 160
K2064.2190 AHQIHA AR M6x18 9,6 19 42 65 482 260
K2064.2200 AHQIPA AR M6x18 9,6 20 42 65 482 300
K2064.2250 AEQIPA AL M6x18 9,6 25 45 75 508 325
K2064.2300 AHQIHA AR M6x18 9,6 30 54 83 586 400
K2064.2350 AEHQIYA AR M8x25 23 35 67 95 74,1 330
K2064.2400 AEQIPA AE! M8x25 23 40 77 108 834 400
K2064.2500 AHQIBA AR M10x25 46 50 85 124 932 688

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



